Greenhouse and Landscape worksheet 11 (refer to Worksheet #4 for example)


Homework Problems 
1. How many inches are there in 29.25 feet? 

2. How many inches are there in 17.75 yards? 

3. How many feet are there in 151.5 yards? 

4. How many square feet are there in 29.75 square yards? How many square inches are there? 

5. A rectangular plot of land measures 110 yards and 2 feet on one side and 72.5 yards on the other. How many square yards is this plot? 

6. Find the total area in square yards of all of the flower beds at a new customer’s house- two circle flower beds with a diameter of 12 feet, one rectangle flower bed with a length of 12 yards and a width of 17 feet, and a square flower bed that is 16 feet across. 

7. Estimate the area of the plot of land shown in the figure below. Radius of the circle is 13 feet, top side of the rectangle is 28 feet, bottom side of triangle is 8 feet.


8. The directions say to mix 1 teaspoon of an emulsifiable concentrate liquid herbicide per gallon of water to cover 100 square yards of lawn. Your lawn actually covers 1,750 square feet. How many gallons of spray mix do you actually need? 

9. The directions say to apply 2.25 pounds of an herbicide product per 1,000 square feet of area. The planting bed to be treated covers 770 square yards. How many pounds of product need to be applied to this planting bed? 

10. The flowerbed shown needs to be covered with leaf compost to a depth of 3 inches. You have bales of compost that say each bale will cover 28 sq. ft. to that depth. How many bales of compost do you need for the job?  Radius of the circle is 17 yards.



